1.

® 3 @1+ 3 ® 2+ V3
@ 5 ® 2+2v3

1< V3<20]B2
“a=1,b=V3-1
“2a+b=2+V3-1=+V3+1




2. Bx+4)P?=a’+bxy+oy* W, AT a,b,cFat+b+c

29

D 11 @ 19 ® 25 @ 31 @49

(3x)%2+2x3xx4y+ (4y)? = 9x% +24xy+16y* °| B2 a+b+c =
9+ 24+ 16 =49 o[t}




@ x2-4x-4 @ x2-2x-2 @ x2-2x+14
(@’x2—4x—|—4 ® x2+4x+4

X4+ 2xxx(=2)+ (-2)2 =x* —4dx + 4
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B-DB+1DE2+1)3*+1)=3"-1
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oHd =

~&B

B-1)B+1)(32+1)(3*+1)
=(32-1)(32+1)(3* +1)
=B*-1)B*+1)

=3%_-1




® a? @ a? + 2ab + b? ® a?-ab
(@)az—b2 ® a® - 2ab + b?

A2 ] gol= (7129 4o]) x (A= Z9]) °o|B= (a+
b)(a-b) = a® - b2 O[T},




7.  (3x-2y-2)29] AANA xy 2] AFE=?

@—12 @ -6 @1 @ 4

B

(3x — 2y — 7)?
o A 3x -2y = AR X|ZstHA
(A-2)?
=A% - 224 4 7
= (3x-2y)? - 2z(3x - 2y) + 22
9] Aol A xy2] o] ot AE
2X3xx -2y = —12xy0| B2
xy 9] Alg= —120]t},




8. 98 & AR b TIe A2

@ (a+b)? =a®+ 2ab + b?
@) (a-b)? = a® - 2ab + ?
® (a+b)(a-b)=a®-b?
@ (x+a)(x+b)=x*+(a+b)x+ab

® (ax+b)(cx+d) = acx® + (ad + be)x + bd

B

982 = (100 — 2)2
=100% — 2 x 2 x 100 + 22
= 10000 — 400 + 4
= 9604

(a—b)? = a® - 2ab + b* & °|-&5IH Hrt.




9. x+y=4, xy=-2% 0 x? +y* 9 32?7

® 5 @ 10 ® 15 @20 ® 25

x> +y? = (x+y)?-2xy
— 4% 2% (-2)
=16+4 =20




10. ohe TolA 72 2aem , A2 acm 9 AAZFE grol] 13} 7o)
[e3]

lem ZFA ] ¥] HHo| o]S mf M2t BEo] Yol

_--2acm- -
/L
1
acm
\ lem
= 4
1ém
® a?-3a—1 (cm?) @ 2a®-3a-1 (cm?)
@2512 -3a+1 (cm?) @ a®+3a-1 (cm?)

® 24? -1 (cm?)

S =(2a-1)(a-1)
=242 -3a+1




